 451  Path Analysis Lab




 Dataset ( clinical_pathdata451.sav       
Walk-through:                      



 








1. Obtain the hypothesized path model

Please note:  the “error” values aren’t obtained until you do the model comparison in Step 3
a. Using Stress as the criterion obtain the following:

R² for the model = _______                                 error associated with Stress = _________
	Variables
	Trait 

Anxiety

	β (r)
	



Is this part of the model “weaker” than the same part of the full model?  Why or why not?
b. Using State Anxiety as the criterion obtain the following:

R² for the model = _______                                 error associated with State Anxiety = _________

	Variables
	Trait 

Anxiety

	β (r)
	



Is this part of the model “weaker” than the same part of the full model?  Why or why not?
c. Using Depression as the criterion obtain the following:

R² for the model = _______                                 error associated with Depression = _________

	Variables
	Friend Social Support
	Family Social Support
	Stress
	State 

Anxiety

	β (r)
	
	
	
	


Is this part of the model “weaker” than the same part of the full model?  Why or why not?
d. Comparing the paths of models
Were there any paths in the hypothesized model that weren’t significant? Which?

Where there any significant paths in the full model that were not hypothesized in this model? Which?
What is the two likely consequences?

hint for #1 (  consequence for that part of the model

Hint for #2 ( consequence for the whole model

e. Comparing the models

Get the overall fit of the Full Model ________________

Get the overall fit of the Hypothesized Model __________________

Get the summary statistic and p-value comparing the models _____________________  ____________

Does the full model fit the data better than the hypothesized model?

If not ( what missing paths do you suspect made the difference??

Your Turn:                      



 













1. Obtain the “hypothesized  path model (you make up the hypothesis…  what paths “aren’t necessary” to understand the story?  Don’t look at or even try to remember the model from yesterday.  Just think about the variables and make some theoretical guesses!) ( You’ll need 6 regression models (you decide the correct elements for each)
a. Using Total Social Support as the criterion obtain the following:

R² for the model = _______                                 error associated with Stress = _________

	Variables
	Urban/Rural
	Trait 

Anxiety

	β (r)
	
	


b. Using Stress as the criterion obtain the following:

R² for the model = _______                                 error associated with Stress = _________

	Variables
	Urban/Rural
	Trait 

Anxiety

	β (r)
	
	


c. Using Self Esteem as the criterion obtain the following:

R² for the model = _______                                 error associated with Stress = _________

	Variables
	Urban/Rural
	Trait 

Anxiety

	β (r)
	
	


d. Using State Anxiety as the criterion obtain the following:

R² for the model = _______                                 error associated with State Anxiety = _________

	Variables
	Urban/Rural
	Trait Anxiety
	TotalSS
	Stress
	Self Esteem

	β (r)
	
	
	
	
	


e. Using Depression as the criterion obtain the following:

R² for the model = _______                                 error associated with Depression = _________

	Variables
	Urban/Rural
	Trait Anxiety
	TotalSS
	Stress
	Self Esteem

	β (r)
	
	
	
	
	


f. Using Depression as the criterion obtain the following:

R² for the model = _______                                 error associated with Depression = _________

	Variables


	Urban

Rural
	Trait 

Anxiety
	TotalSS
	Stress
	Self Esteem
	State Anxiety
	Lonliness

	β (r)
	
	
	
	
	
	
	


g. Comparing the models

Get the overall fit of the Full Model ________________

Were any of the regressions importantly weaker in the Trimmed than Full models?  Are you surprised?

Get the overall fit of the Theory Trimmed Model __________________

Get the summary statistic and p-value comparing the models _____________________  ____________

Does the full model fit the data better than the Theory Trimmed model?

If not ( what missing paths do you suspect made the difference??

2. Go back to the full model from the last lab.  Determine which paths were not significant in that model.  Dropping those paths defines the “theory trimmed”  path model ( You’ll need 6 regression models (you decide the correct elements for each)
a. Using Total Social Support as the criterion obtain the following:

R² for the model = _______                                 error associated with Stress = _________

	Variables
	Urban/Rural
	Trait 

Anxiety

	β (r)
	
	


Is this part of the model “weaker” than the same part of the full model?  Why or why not?
b. Using Stress as the criterion obtain the following:

R² for the model = _______                                 error associated with Stress = _________

	Variables
	Urban/Rural
	Trait 

Anxiety

	β (r)
	
	


Is this part of the model “weaker” than the same part of the full model?  Why or why not?
c. Using Self Esteem as the criterion obtain the following:

R² for the model = _______                                 error associated with Stress = _________

	Variables
	Urban/Rural
	Trait 

Anxiety

	β (r)
	
	


Is this part of the model “weaker” than the same part of the full model?  Why or why not?
d. Using State Anxiety as the criterion obtain the following:

R² for the model = _______                                 error associated with State Anxiety = _________

	Variables
	Urban/Rural
	Trait Anxiety
	TotalSS
	Stress
	Self Esteem

	β (r)
	
	
	
	
	


Is this part of the model “weaker” than the same part of the full model?  Why or why not?
e. Using Depression as the criterion obtain the following:

R² for the model = _______                                 error associated with Depression = _________

	Variables
	Urban/Rural
	Trait Anxiety
	TotalSS
	Stress
	Self Esteem

	β (r)
	
	
	
	
	


Is this part of the model “weaker” than the same part of the full model?  Why or why not?
f. Using Depression as the criterion obtain the following:

R² for the model = _______                                 error associated with Depression = _________

	Variables


	Urban

Rural
	Trait 

Anxiety
	TotalSS
	Stress
	Self Esteem
	State Anxiety
	Lonliness

	β (r)
	
	
	
	
	
	
	


Is this part of the model “weaker” than the same part of the full model?  Why or why not?
g. Comparing the paths of models

Were there any paths in the hypothesized model that weren’t significant? Which?

Where there any significant paths in the full model that were not hypothesized in this model? Which?

What is the two likely consequences?

hint for #1 (  consequence for that part of the model

Hint for #2 ( consequence for the whole model

h. Comparing the models

Get the overall fit of the Full Model ________________

Get the overall fit of the Hypothesized Model __________________

Get the summary statistic and p-value comparing the models _____________________  ____________

Does the full model fit the data better than the hypothesized model?

If not ( what missing paths do you suspect made the difference??

Mediation Analyses
Walk-through

We found, as have many others, that Stress is related to Depression.  Our question was whether this was mediated by Anxiety.  Said differently, does Stress have a “direct effect” upon Depression, or does Stress contribute to Depression by influencing Anxiety, which then, in turn, influences Depression:

· Stress was measured using a questionnaire every 6th week for 9 months, and averaged.

· The State anxiety questionnaire was administered during the same session at which the interview was conducted that produced the depression score.

Are you comfortable with the placement (layers) of the variables in the path below?  Why or why not?

Get:

1) Correlations among the three variables
2) Multiple regression model of Stress and State Anxiety predicting Depression

Fill in the values below and pick one of the following to summarize the results.

· No mediation

· Partial mediation

· Complete mediation

Explain your answer:








On own #1
We also found that Social Support was (negatively) related to Depression, but wondered if Loneliness might be a mediating variable?
The Total social support interview asked questions about childhood through high school.

Loneliness questionnaire asked questions about most recent 3 days and was administered during the same session as the interview that produced the depression score.

Are you comfortable with the placement (layers) of the variables in the path below?  Why or why not?

Get:

1) Correlations among the three variables
2) Multiple regression model of Total Social Support and Loneliness predicting Depression

Fill in the values below and pick one of the following to summarize the results.

· No mediation

· Partial mediation

· Complete mediation

Explain your answer:








`
On own #2
Like many others, we found that Social Support drives Anxiety.  Self Esteem might be part of that picture?

The Total Social Support interview asked questions about childhood through high school.

Self Esteem (an index of “How do you feel about yourself right now, today?”) was measured using a questionnaire that was administered a week before conducting the interview that led to the Depression measure.

Are you comfortable with the placement (layers) of the variables in the path below?  Why or why not?

Get:

1) Correlation of Total Social support and the Self-esteem scale

2) Multiple regression model of Total Social Support and Self-esteem predicting Depression

Fill in the values below and pick one of the following to summarize the results.

· No mediation

· Partial mediation

· Complete mediation

Explain your answer:








On own #3

The relationship between Social Support and Loneliness seems pretty obvious (even Support from “growing up” and “current loneliness”), but is Marital status part of the picture??
The Family Social support interview asked questions about childhood through high school 

Marital Status – only use data from “single” and “married” cases.

Are you comfortable with the placement (layers) of the variables in the path below?  Why or why not?

Get:

1) Correlation of Family Social Support and the self-esteem scale

2) Multiple regression model of Family Social Support and Stress predicting Depression

Fill in the values below and pick one of the following to summarize the results.

· No mediation

· Partial mediation

· Complete mediation

Explain your answer:
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